

See a Social Security Number? Say Something! Report Privacy Problems to https://public.resource.org/privacy Or call the IRS Identity Theft Hotline at 1-800-908-4490



Form '990-PF Department of the Treasury Internal Revenue Service

EXTENDED TO NOVEMBER 16, 2015
Return of Private Foundation

or Section 4947(a)(1) Trust Treated as Private Foundation

▶ Do not enter social security numbers on this form as it may be made public.
 ▶ Information about Form 990-PF and its separate instructions is at www.lrs.gov/form990pf.

2014

Ford	alen	dar year 2014 or tax year beginning		, and ending		
Nan	ne of	foundation			A Employer identification	number
		GRACE K. ALPERT				
_ <u>C</u>	HAI	RITABLE FOUNDATION			45-6592383	
		nd street (or P O box number if mail is not delivered to street	address)	Room/suite	B Telephone number	
_1	00	O CHAPEL VIEW BLVD.	<u> </u>	220	401.455.98	00
		own, state or province, country, and ZIP or foreign po	ostal code		C If exemption application is p	ending, check here
_ <u>C</u>	RAI	NSTON, RI 02920				
G C	heck	all that apply: Initial return	Initial return of a fo	rmer public charity	D 1. Foreign organizations	, check here
		Final return	Amended return		2 Foreign organizations me	eting the 85% test
		Address change	Name change		2. Foreign organizations me check here and attach co	mputation
H_C	_	type of organization: X Section 501(c)(3) ex	•	$\bigcap G$	E If private foundation sta	
	Se		Other taxable private founda		under section 507(b)(1)	(A), check here
I Fa	ır ma	rket value of all assets at end of year J Accounting	=	Accrual	F If the foundation is in a	
		Part II, col (c), line 16)	her (specify)		under section 507(b)(1)	(B), check here
		1,172,490. (Part I, colu	mn (d) must be on cash b	pasis.)		
Pa	<u>ırt l</u>	Analysis of Revenue and Expenses (The total of amounts in columns (b), (c), and (d) may not necessarily equal the amounts in column (a))	(a) Revenue and expenses per books	(b) Net investment income	(c) Adjusted net income	(d) Disbursements for charitable purposes (cash basis only)
	1	Contributions, gifts, grants, etc., received	500,000.			
	2	Check If the foundation is not required to attach Sch. B				
,	3	Interest on savings and temporary cash investments				
	4	Dividends and interest from securities	13,690.	13,690.		STATEMENT 2
	5a	Gross rents				
	b	Net rental income or (loss)				
ø.	6a	Net gain or (loss) from sale of assets not on line 10	19,184.			STATEMENT 1
Ĭ	b	Gross sales price for all assets on line 8a 1,318,836.		<u> </u>		
Revenue	7	Capital gain net income (from Part IV, line 2)		76,455.		
7) <u> </u>	8	Net short-term capital gain			ļ	
⊅	9	Income modifications Gross sales less returns				
2	10a	and allowances				
		Less Cost of goods sold				
י ^י כ		Gross profit or (loss ECEIVED)	11	11	 	CM3 MENUTATION 1
⊇	11	Other income Total. Add lines 1 through 19 6 2015	11.	11.		STATEMENT 3
			532,885.	90,156		2 500
೨	ı	Compensation of directors, trustees, etc	5,000.	2,500	0.	2,500.
ာ	14	Other employee salaries and wages Pension plans, employee benefits. UT				
se 20						
]5 Sus	16a	Legal fees Accounting fees STMT 4	2,750.	0 .	. 0.	2,750.
اك « و و Aistrative Expens	ם	Accounting fees STMT 4 Other professional fees STMT 5	13,180.	13,180		2,750.
C0	17	Interest	13,100.	13,100	•	•
<u>`</u>	18	Taxes STMT 6	510.	10.	0.	0.
Str	19	Depreciation and depletion	310.			``
	20	Occupancy		<u> </u>		
Admi	1	Travel, conferences, and meetings				
\simeq	1	Printing and publications				
		Other expenses STMT 7	50.	0 .	0.	50.
許	24	Total operating and administrative				
ுல்லாத்தி Operating an	-	expenses. Add lines 13 through 23	21,490.	15,690	0.	5,300.
Ö	25	Contributions, gifts, grants paid	516,800.			5,300. 516,800.
1		Total expenses and disbursements.				
	L	Add lines 24 and 25	538,290.	15,690	. 0.	522,100.
	27	Subtract line 26 from line 12:				
	a	Excess of revenue over expenses and disbursements	-5,405.			<u> </u>
	b	Net investment income (if negative, enter -0-)		74,466		
	C	Adjusted net income (if negative, enter -0-)	1		0.	L

THE GRACE K. ALPERT CHARITABLE FOUNDATION

For	m 99	0-PF (2014) CHARITABLE FOUNDATION		45-6	5592383 Page 2
<u></u>	art	Balance Sheets Attached schedules and amounts in the description column should be for end-of-year amounts only	Beginning of year	End of	
	arı	column should be for end-of-year amounts only	(a) Book Value	(b) Book Value	(c) Fair Market Value
	1	Cash - non-interest-bearing			
		Savings and temporary cash investments	1,131,712.	17,841.	17,841.
	3	Accounts receivable ►			
		Less: allowance for doubtful accounts ▶			
	4	Pledges receivable			
	_	Less: allowance for doubtful accounts ▶			
	5	Grants receivable			
	6	Receivables due from officers, directors, trustees, and other			
	_	disqualified persons			
	7	Other notes and loans receivable			
		Less; allowance for doubtful accounts			
Assets	1 -	Inventories for sale or use			_
Ass		Prepaid expenses and deferred charges Investments - U.S. and state government obligations	· · · - · · · · · · · · · · · · · · · ·		
_			0.	1,108,466.	1,154,649.
			0.	1,100,400.	1,134,049.
		Investments - corporate bonds			
	''	Investments - land, buildings, and equipment basis			
	40	Less accumulated depreciation			
	!	Investments - mortgage Ioans Investments - other			
	13	Land, buildings, and equipment basis			
	14	Less accumulated depreciation			
	45	Other assets (describe			
		Total assets (to be completed by all filers - see the			
	10	Instructions. Also, see page 1, item I)	1,131,712.	1,126,307.	1,172,490.
_	17	Accounts payable and accrued expenses	1/131//11	1/110/00//	<u> </u>
	18	Grants payable			
"	19	Deferred revenue			
Liabilities	I	Loans from officers, directors, trustees, and other disqualified persons			
ē		Mortgages and other notes payable			
Ë		Other liabilities (describe)			
		, and industries (accorded			
	23	Total liabilities (add lines 17 through 22)	0.	0.	
_		Foundations that follow SFAS 117, check here			
		and complete lines 24 through 26 and lines 30 and 31.			
Ses	24	Unrestricted	1,131,712.	1,126,307.	
au	25	Temporarily restricted			
Fund Balances		Permanently restricted			
pu		Foundations that do not follow SFAS 117, check here			
		and complete lines 27 through 31.			
sor	27	Capital stock, trust principal, or current funds			
set	28	Paid-in or capital surplus, or land, bldg., and equipment fund		··	
As	29	Retained earnings, accumulated income, endowment, or other funds			
Net Assets	30	Total net assets or fund balances	1,131,712.	1,126,307.	
	31	Total liabilities and net assets/fund balances	1,131,712.	1,126,307.	
F	art	III Analysis of Changes in Net Assets or Fund B	Balances		
1	Tota	I net assets or fund balances at beginning of year - Part II, column (a), line	30		
•		st agree with end-of-year figure reported on prior year's return)		1	1,131,712.
2	•	er amount from Part I, line 27a		2	-5,405.
		er increases not included in line 2 (itemize)		3	0.
4	Add	lines 1, 2, and 3		. 4	1,126,307.
5		reases not included in line 2 (itemize)		5	0.
6	Tota	al net assets or fund balances at end of year (line 4 minus line 5) - Part II, c	olumn (b), line 30	6_	1,126,307.
					Form 990-PF (2014)

CHARITABLE FOUNDATION

Part IV Capital Gains and L	osses for Tax on In	vestment	Income					
(a) List and describe the 2-story brick warehouse	kind(s) of property sold (e.g. e; or common stock, 200 shs	, real estate, . MLC Co.)		(b) F P D	low acquired - Purchase - Donation] (၁) m)	Date acquired io., day, yr.)	(d) Date sold (mo., day, yr.)
1a PUBLICLY TRADED SH	ECURITIES							
b K-1 THE BLACKSTONE					<u> P</u>	ļ		
c K-1 THE BLACKSTONE	E GROUP - SEC	TION 1	231	-	P	 		
<u>d</u>					 	╁──		
_ e) Depreciation allowed	(n) Cos	t or other basis	\vdash			(h) Gain or (loss)
(e) Gross sales price	(or allowable)		xpense of sale				plus (f) minus	
a 1,318,785.		_	1,242,38	1.				76,404.
b 42.							- 	42.
<u>c</u> 9.								9.
_d								
Complete only for assets showing gain i	n column (h) and owned by t	l The foundation	on 12/31/69			(I) Gai	ns (Col. (h) gaın	minus
	(j) Adjusted basis		cess of col. (i)	\neg		còl. (k),	but not less tha	n -0-) o r
(i) F.M.V. as of 12/31/69	as of 12/31/69	over	col. (j), if any			L0	sses (from col.	(n))
a							<u> </u>	76,404.
b								42.
C								9.
d								
<u>e</u>	∫ If gain, also enter	un Dart I lina	7	7				
2 Capital gain net income or (net capital los				}[2			76,455.
3 Net short-term capital gain or (loss) as d	•							
If gain, also enter in Part I, line 8, column		- (-/-)				
If (loss), enter -0- in Part I, line 8 Part V Qualification Under	Section 4940(a) for	Paducad	Tay on Not	Inv	astment l	ncom	N/A	<u> </u>
(For optional use by domestic private founds						110011		
(FOI optional use by domestic private round	ations subject to the section -	1340(a) lax on	net investment in	ICOIIIC	··)			
If section 4940(d)(2) applies, leave this part	blank.							
Was the foundation liable for the section 49-	42 tax on the distributable am	nount of any ye	ear in the base pei	rıod?				Yes X No
If "Yes," the foundation does not qualify und								
1 Enter the appropriate amount in each co		nstructions be	fore making any e	•				(d)
Base periód years	(b) Adjusted qualifying dis	tributions	Net value of no	(c) onchai		ets	Distri (col. (b.) di	bution ratio vided by col. (c))
Calendar year (or tax year beginning in) 2013		3,525.			706,4	59.	(0011 (12) (1)	.033300
2012		0,669.			487,9			.103831
2011		0.			241,3			.000000
2010								
2009	J							
9. Total of line 1 column (d)							2	.137131
2 Total of line 1, column (d)3 Average distribution ratio for the 5-year	pase period - divide the total (on line 2 hv 5	or by the number	r of ve	ars	 		• 17/171
the foundation has been in existence if le		on inio 2 by 0,	or by the number	0. ,0	, 4, 0		3	.045710
	,							
4 Enter the net value of noncharitable-use	assets for 2014 from Part X,	line 5				L	4	951,229.
								40.404
5 Multiply line 4 by line 3						-	5	43,481.
0. Fater 10/ of act investment income /10/	of Dort Livro 07h							745.
6 Enter 1% of net investment income (1%	טו רמונו, וווופ 210)		-			+	6	
7 Add lines 5 and 6							7	44,226.
8 Enter qualifying distributions from Part 2	(II, line 4						8	522,100.
If line 8 is equal to or greater than line 7, See the Part VI instructions.	check the box in Part VI, line	t 1b, and comp	olete that part usir	ng a 1	% tax rate.			

THE GRACE K. ALPERT CHARITABLE FOUNDATION 45-6592383 Form 990-PF (2014) Excise Tax Based on Investment Income (Section 4940(a), 4940(b), 4940(e), or 4948 - see instructions 1a Exempt operating foundations described in section 4940(d)(2), check here \(\bigcup \] and enter "N/A" on line 1. (attach copy of letter if necessary-see instructions) Date of ruling or determination letter: b Domestic foundations that meet the section 4940(e) requirements in Part V, check here 🕨 🗓 and enter 1% 745. of Part I, line 27b c All other domestic foundations enter 2% of line 27b. Exempt foreign organizations enter 4% of Part I, line 12, col. (b). 2 Tax under section 511 (domestic section 4947(a)(1) trusts and taxable foundations only. Others enter -0-) 3 Subtitle A (income) tax (domestic section 4947(a)(1) trusts and taxable foundations only. Others enter -0-) 4 5 5 Tax based on investment income. Subtract line 4 from line 3. If zero or less, enter -0-6 Credits/Payments: 396 a 2014 estimated tax payments and 2013 overpayment credited to 2014 6a 6b b Exempt foreign organizations - tax withheld at source 1,000. c Tax paid with application for extension of time to file (Form 8868) 6c d Backup withholding erroneously withheld 1,396. 7 Total credits and payments. Add lines 6a through 6d 8 Enter any penalty for underpayment of estimated tax. Check here _____ if Form 2220 is attached 8 Tax due. If the total of lines 5 and 8 is more than line 7, enter amount owed 9 651. 10 Overpayment, If line 7 is more than the total of lines 5 and 8, enter the amount overpaid 10 Refunded 11 0. 11 Enter the amount of line 10 to be: Credited to 2015 estimated tax Part VII-A Statements Regarding Activities Yes No 1a During the tax year, did the foundation attempt to influence any national, state, or local legislation or did it participate or intervene in any political campaign? 1a b Did it spend more than \$100 during the year (either directly or indirectly) for political purposes (see instructions for the definition)? 1b If the answer is "Yes" to 1a or 1b, attach a detailed description of the activities and copies of any materials published or distributed by the foundation in connection with the activities X c Did the foundation file Form 1120-POL for this year? 10 d Enter the amount (if any) of tax on political expenditures (section 4955) imposed during the year: 0 • (2) On foundation managers. ► \$ (1) On the foundation. > \$ e Enter the reimbursement (if any) paid by the foundation during the year for political expenditure tax imposed on foundation managers. > \$ 0. X 2 Has the foundation engaged in any activities that have not previously been reported to the IRS? 2 If "Yes," attach a detailed description of the activities 3 Has the foundation made any changes, not previously reported to the IRS, in its governing instrument, articles of incorporation, or bylaws, or other similar instruments? If "Yes," attach a conformed copy of the changes 4a Did the foundation have unrelated business gross income of \$1,000 or more during the year? 4a N/A b If "Yes," has it filed a tax return on Form 990-T for this year? 4b 5 X 5 Was there a liquidation, termination, dissolution, or substantial contraction during the year? If "Yes," attach the statement required by General Instruction T. 6 Are the requirements of section 508(e) (relating to sections 4941 through 4945) satisfied either: By language in the governing instrument, or

7 Did the foundation have at least \$5,000 in assets at any time during the year? If "Yes," complete Part II, col (c), and Part XV

8a Enter the states to which the foundation reports or with which it is registered (see instructions)

RI

b If the answer is "Yes" to line 7, has the foundation furnished a copy of Form 990-PF to the Attorney General (or designate)

By state legislation that effectively amends the governing instrument so that no mandatory directions that conflict with the state law

b If the answer is "Yes" to line 7, has the foundation furnished a copy of Form 990-PF to the Attorney General (or designate) of each state as required by General Instruction G? If "No," attach explanation

9 Is the foundation claiming status as a private operating foundation within the meaning of section 4942(j)(3) or 4942(j)(5) for calendar year 2014 or the taxable year beginning in 2014 (see instructions for Part XIV)? If "Yes," complete Part XIV

10 Did any persons become substantial contributors during the tax year? If "Yes," attach a schedule listing their names and addresses

8b X 9 X 10 X Form **990-PF** (2014)

 $\frac{\mathbf{x}}{\mathbf{x}}$

7

423531 11-24-14

remain in the governing instrument?

Form 990-PF (2014)

X

3b

4a

N/A

during the year?

3a Did the foundation hold more than a 2% direct or indirect interest in any business enterprise at any time

4a Did the foundation invest during the year any amount in a manner that would jeopardize its charitable purposes?

Form 4720, to determine if the foundation had excess business holdings in 2014.)

had not been removed from jeopardy before the first day of the tax year beginning in 2014?

b If "Yes," did it have excess business holdings in 2014 as a result of (1) any purchase by the foundation or disqualified persons after May 26, 1969; (2) the lapse of the 5-year period (or longer period approved by the Commissioner under section 4943(c)(7)) to dispose of holdings acquired by gift or bequest; or (3) the lapse of the 10-, 15-, or 20-year first phase holding period? (Use Schedule C,

b Did the foundation make any investment in a prior year (but after December 31, 1969) that could jeopardize its charitable purpose that

Form **990-PF** (2014)

Total number of other employees paid over \$50,000

3 Five highest-paid independent contractors for professional services. If none, enter "NONE."	
(a) Name and address of each person paid more than \$50,000 (b) Type of serv	vice (c) Compensa
NONE	
The Lawrence of others recovering over \$50,000 for professional converse	>
Fotal number of others receiving over \$50,000 for professional services Part IX-A Summary of Direct Charitable Activities	
List the foundation's four largest direct charitable activities during the tax year. Include relevant statistical information such as the	
number of organizations and other beneficiaries served, conferences convened, research papers produced, etc.	Expenses
1 N/A	
2	
3	
4	
	
Part IX-B Summary of Program-Related Investments	
Describe the two largest program-related investments made by the foundation during the tax year on lines 1 and 2.	Amount
1 N/A	
2	
All other program-related investments. See instructions.	
3	
	<u> </u>
Total. Add lines 1 through 3	•
Total, 766 mice i allougho	Form 990-PF (2

Form. 990-PF (2014)

Part X Minimum Investment Return (All domestic foundations must complete this part. Foreign foundations, see instructions) Fair market value of assets not used (or held for use) directly in carrying out charitable, etc., purposes: 688,878. 1a a Average monthly fair market value of securities 276,837. 1b b Average of monthly cash balances 1c c Fair market value of all other assets 965,715. 1d d Total (add lines 1a, b, and c) e Reduction claimed for blockage or other factors reported on lines 1a and 0. 1e 1c (attach detailed explanation) Acquisition indebtedness applicable to line 1 assets 965,715. 3 Subtract line 2 from line 1d 14,486. 4 Cash deemed held for charitable activities. Enter 1 1/2% of line 3 (for greater amount, see instructions) 951,229. Net value of noncharitable-use assets. Subtract line 4 from line 3. Enter here and on Part V, line 4 5 47,561. 6 Minimum investment return Enter 5% of line 5 Part XI Distributable Amount (see instructions) (Section 4942(1)(3) and (1)(5) private operating foundations and certain foreign organizations check here

and do not complete this part.) **47**,561. Minimum investment return from Part X, line 6 745. 2a Tax on investment income for 2014 from Part VI, line 5 Income tax for 2014. (This does not include the tax from Part VI.) 2b 2c Add lines 2a and 2b 3 46.816. Distributable amount before adjustments. Subtract line 2c from line 1 4 Recoveries of amounts treated as qualifying distributions 5 Add lines 3 and 4 6 0. Deduction from distributable amount (see instructions) Distributable amount as adjusted. Subtract line 6 from line 5. Enter here and on Part XIII, line 1 816. Part XII Qualifying Distributions (see instructions) Amounts paid (including administrative expenses) to accomplish charitable, etc., purposes: 522,100. a Expenses, contributions, gifts, etc. - total from Part I, column (d), line 26 1a 1b b Program-related investments - total from Part IX-B 2 Amounts paid to acquire assets used (or held for use) directly in carrying out charitable, etc., purposes Amounts set aside for specific charitable projects that satisfy the: 3a a Suitability test (prior IRS approval required) 3b b Cash distribution test (attach the required schedule) 522,100. 4 Qualifying distributions Add lines 1a through 3b. Enter here and on Part V, line 8, and Part XIII, line 4 Foundations that qualify under section 4940(e) for the reduced rate of tax on net investment 745. income. Enter 1% of Part I, line 27b 521.355 6 Adjusted qualifying distributions. Subtract line 5 from line 4 Note The amount on line 6 will be used in Part V, column (b), in subsequent years when calculating whether the foundation qualifies for the section 4940(e) reduction of tax in those years.

Form 990-PF (2014)

Page 9

THE GRACE K. ALPERT CHARITABLE FOUNDATION

Part XIII Undistributed Income (see instructions)

	(a) Corpus	(b) Years prior to 2013	(c) 2013	(d) 2014
1 Distributable amount for 2014 from Part XI,				
line 7				46,816.
2 Undistributed income, if any, as of the end of 2014		 		
a Enter amount for 2013 only			0.	
b Total for prior years:				
,		0.		
3 Excess distributions carryover, if any, to 2014:				
a From 2009				
b From 2010				
c From 2011				
d From 2012 2,835.				
e From 2013				
f Total of lines 3a through e	2,835.			
4 Qualifying distributions for 2014 from				
Part XII, line 4: ► \$ 522,100.				
a Applied to 2013, but not more than line 2a			0.	
b Applied to undistributed income of prior				
years (Election required - see instructions)		0.		
c Treated as distributions out of corpus				
(Election required - see instructions)	0.			
d Applied to 2014 distributable amount				46,816.
e Remaining amount distributed out of corpus	475,284.			
5 Excess distributions carryover applied to 2014	0.			0.
(If an amount appears in column (d), the same amount must be shown in column (a))				
6 Enter the net total of each column as indicated below:				
a Corpus Add lines 3f, 4c, and 4e Subtract line 5	478,119.			
b Prior years' undistributed income. Subtract				
line 4b from line 2b		0.		
c Enter the amount of prior years'				
undistributed income for which a notice of				
deficiency has been issued, or on which the section 4942(a) tax has been previously				
assessed		0.		
d Subtract line 6c from line 6b. Taxable				
amount - see instructions		0.		
e Undistributed income for 2013. Subtract line				
4a from line 2a. Taxable amount - see instr.	-,		0.	
f Undistributed income for 2014. Subtract				
lines 4d and 5 from line 1. This amount must				_
be distributed in 2015				0.
7 Amounts treated as distributions out of				
corpus to satisfy requirements imposed by				
section 170(b)(1)(F) or 4942(g)(3) (Election	•			
may be required - see instructions)	0.	 		
8 Excess distributions carryover from 2009	_			
not applied on line 5 or line 7	0.			
9 Excess distributions carryover to 2015.	450 440			
Subtract lines 7 and 8 from line 6a	478,119.			
10 Analysis of line 9:				
a Excess from 2010				
b Excess from 2011				
c Excess from 2012 2,835.				
d Excess from 2013 e Excess from 2014 475, 284.				
e Excess from 2014 475, 284.			J	Form 990-PF (2014)

NONE

NONE

Information Regarding Contribution, Grant, Gift, Loan, Scholarship, etc., Programs:

Check here \(\bigcup \) If the foundation only makes contributions to preselected charitable organizations and does not accept unsolicited requests for funds. If the foundation makes gifts, grants, etc. (see instructions) to individuals or organizations under other conditions, complete items 2a, b, c, and d.

- a The name, address, and telephone number or e-mail address of the person to whom applications should be addressed:
- b The form in which applications should be submitted and information and materials they should include:
- c Any submission deadlines:
- d Any restrictions or limitations on awards, such as by geographical areas, charitable fields, kinds of institutions, or other factors:

Form 990-PF (2014)

Form 990-PF (2014) Part XV Supplementary Information (continued) Grants and Contributions Paid During the Year or Approved for Future Payment If recipient is an individual, Recipient show any relationship to Foundation Purpose of grant or **Amount** any foundation manager or substantial contributor status of contribution Name and address (home or business) recipient a Paid during the year NONE CHARITABLE DONATION RHODE ISLAND FOUNDATION ONE UNION STATION 280,000. PROVIDENCE RI 02903 CHARITABLE DONATION NONE JEWISH FAMILY SERVICES OF RI 959 NORTH MAIN STREET PROVIDENCE, RI 02904 101,800. THE TOMORROW FUND NONE CHARITABLE DONATION 593 EDDY STREET 25,000. PROVIDENCE, RI 02903 NONE CHARITABLE DONATION TEMPLE BETH-EL 70 ORCHARD AVE. 100,000. PROVIDENCE, RI 02906 CHARITABLE DONATION NONE JEWISH ALLIANCE OF GREATER RI 401 ELMGROVE AVENUE 10,000. PROVIDENCE RI 02906 **▶** 3a 516,800. Total b Approved for future payment NONE

Form 990-PF (2014)

Total

Part XVI-A Analysis of Income-Producing Activities

nter gross amounts unless otherwise indicated.	Unrelate	d business income		ed by section 512, 513, or 514	(e)
Program service revenue:	(a) Business code	(b) Amount	(C) Exclu- sion code	(d) Amount	Related or exempt function income
a	5555				_ -
b	_	-			
C					
d					
e					
f					
g Fees and contracts from government agencies					
Membership dues and assessments					
Interest on savings and temporary cash					
investments		· <u></u>			
Dividends and interest from securities			14	13,690.	
Net rental income or (loss) from real estate:					
a Debt-financed property			1		
b Not debt-financed property					
Net rental income or (loss) from personal					
property			1		
Other investment income			14	11.	
Gain or (loss) from sales of assets other			1		
than inventory			18	19,184.	
Net income or (loss) from special events					
Gross profit or (loss) from sales of inventory			1		
Other revenue:					
a	_		╂		
b					
C					
d					
e			+	22 005	
Subtotal. Add columns (b), (d), and (e)		0.		32,885.	
Total. Add line 12, columns (b), (d), and (e) see worksheet in line 13 instructions to verify calculations	- >			13	32,88
ine No. Explain below how each activity for which the foundation's exempt purposes (other to	income is reported i	in column (e) of Part XVI-A	A contribi	uted importantly to the accom	plishment of
The loundation's exempt purposes (other t	man by providing for	inus iui sucii pui poscsy.			
					
3621 -24-14					Form 990-PF (2

4) CHARITABLE FOUNDATION 45-6592383
Information Regarding Transfers To and Transactions and Relationships With Noncharitable Form 990-PF (2014)
Part XVII Ir **Exempt Organizations**

		anization directly or indirectly				· ·		tion 501(c) of		Yes	No	
		other than section 501(c)	• • •				iizations?					
		s from the reporting foundation to a noncharitable exempt organization of:										
	Cash								1a(1)		X	
	Other								1a(2)		X	
		sactions:									٠,,	
		of assets to a noncharitat							1b(1)		X	
		ases of assets from a nor		ganization					1b(2)		_ <u>X</u> _	
		of facilities, equipment, o	or other assets						1b(3)		X	
		ursement arrangements							1b(4)		X	
		or loan guarantees							1b(5)		X X X X X	
		mance of services or mei							1b(6)		X	
		facilities, equipment, mai									<u> X</u>	
		er to any of the above is								ets,		
		given by the reporting fo			eu iess i	nan iair market vaiu	ie in any transactio	n or snaring arrange	ment, snow in			
		the value of the goods, (b) Amount involved			avamn	t organization	(d) D					
a) Line n	9 ((b) Amount involved	(c) Name of		exemp	t Organization	(u) Description	on of transfers, transaction	ons, and snaring an	rangeme	nts	
				N/A			-	-				
										-		
				 				· · · · · · · · · · · · · · · · · · ·				
	-						-					
	-											
	-											
	_											
	_			_								
						 _						
		dation directly or indirect	•			· -	izations described				T	
		501(c) of the Code (other		(3)) or in sect	tion 527	·/			Yes	LX	No	
b 11 "	es, co	mplete the following sche			/ba Ti	no of organization	ī	(a) Decorration of re	a late a salura			
		(a) Name of org	allization		(D) 1y	pe of organization		(c) Description of re	elationship			
		N/A										
												
					-		-					
	Under	penalties of perjury, I declare t	that I have examined this	return include	ng accom	panying schedules and	I statements and to the	e best of my knowledge				
Sign		lief, it is true, correct, and con							May the IRS or			
Here		13006	ente-		1	15/15	mp II cm		shown below	(see ins	<u>str</u>)?	
	Sign	ature of officer or trustee				· · ·	TRUST	<u>rr</u>	X Yes		J No	
	J	Print/Type preparer's na		Preparer's s		Date	Title Date	Check I if	PTIN			
				i ichaici 9 8	igilalult •	,	Date	self- employed	' ' '''			
Paid			MEDEIROS	2/		Lich	E-36-01	Sell- ellipioyed	D00000	r 2 4		
Prepa	arer	CPA, MST	mT1/0 1/01/3	ODITI	TIP	- 1 C/11	175-17		P00033			
Use (Firm's name ► RES	TIVO MONA	CELLI	LLP			Firm's EIN ► 7	7-06014	57		
Joe (JIIIY	Eirm's address > 2.5	EVO::3::0=	menn -	<u> </u>							
		Firm's address ► 36							01\ 050		0.0	
		PR	OVIDENCE,	RI 02	903			Phone no. (4	01) 273			
									Form 99 0	J-PF	(2014)	

Schedule B

(Form 990, 990-EZ. or 990-PF)

Department of the Treasury Internal Revenue Service

Name of the organization

Schedule of Contributors

▶ Attach to Form 990, Form 990-EZ, or Form 990-PF. ▶ Information about Schedule B (Form 990, 990-EZ, or 990-PF) and its instructions is at www.lrs.gov/form990

OMB No 1545-0047

Employer identification number

THE GRACE K. ALPERT CHARITABLE FOUNDATION 45-6592383 Organization type (check one). Filers of: Section: 501(c)() (enter number) organization Form 990 or 990-EZ 4947(a)(1) nonexempt charitable trust not treated as a private foundation 527 political organization Form 990-PF 501(c)(3) exempt private foundation 4947(a)(1) nonexempt charitable trust treated as a private foundation 501(c)(3) taxable private foundation Check if your organization is covered by the General Rule or a Special Rule. Note. Only a section 501(c)(7), (8), or (10) organization can check boxes for both the General Rule and a Special Rule. See instructions General Rule For an organization filing Form 990, 990-EZ, or 990-PF that received, during the year, contributions totaling \$5,000 or more (in money or property) from any one contributor. Complete Parts I and II. See instructions for determining a contributor's total contributions **Special Rules** For an organization described in section 501(c)(3) filing Form 990 or 990-EZ that met the 33 1/3% support test of the regulations under sections 509(a)(1) and 170(b)(1)(A)(vi), that checked Schedule A (Form 990 or 990 EZ), Part II, line 13, 16a, or 16b, and that received from any one contributor, during the year, total contributions of the greater of (1) \$5,000 or (2) 2% of the amount on (i) Form 990, Part VIII, line 1h. or (ii) Form 990-EZ, line 1. Complete Parts I and II. For an organization described in section 501(c)(7), (8), or (10) filing Form 990 or 990-EZ that received from any one contributor, during the year, total contributions of more than \$1,000 exclusively for religious, charitable, scientific, literary, or educational purposes, or for the prevention of cruelty to children or animals. Complete Parts I, II, and III For an organization described in section 501(c)(7), (8), or (10) filing Form 990 or 990-EZ that received from any one contributor, during the year, contributions exclusively for religious, charitable, etc., purposes, but no such contributions totaled more than \$1,000. If this box is checked, enter here the total contributions that were received during the year for an exclusively religious, charitable, etc., purpose Do not complete any of the parts unless the General Rule applies to this organization because it received nonexclusively religious, charitable, etc., contributions totaling \$5,000 or more during the year

but it must answer "No" on Part IV, line 2, of its Form 990, or check the box on line H of its Form 990-EZ or on its Form 990-PF, Part I, line 2, to certify that it does not meet the filing requirements of Schedule B (Form 990, 990-EZ, or 990-PF).

Caution. An organization that is not covered by the General Rule and/or the Special Rules does not file Schedule B (Form 990, 990-EZ, or 990-PF),

LHA For Paperwork Reduction Act Notice, see the Instructions for Form 990, 990-EZ, or 990-PF. Schedule B (Form 990, 990-EZ, or 990-PF) (2014)

Name of organization
THE GRACE K. ALPERT
CHARITABLE FOUNDATION

Employer identification number

45-6592383

ied.
ie

		<u> </u>	
(a) No.	(b) Name, address, and ZIP + 4	(c) Total contributions	(d) Type of contribution
1	WESLEY S ALPERT 53 WINGATE ROAD PROVIDENCE, RI 02906	\$56,981.	Person X Payroll Noncash (Complete Part II for noncash contributions)
(a) No.	(b) Name, address, and ZIP + 4	(c) Total contributions	(d) Type of contribution
2	WESLEY S ALPERT 53 WINGATE ROAD PROVIDENCE, RI 02906	\$112,579.	Person Payroll Noncash X (Complete Part II for noncash contributions)
(a) No.	(b) Name, address, and ZIP + 4	(c) Total contributions	(d) Type of contribution
3	WESLEY S ALPERT 53 WINGATE ROAD PROVIDENCE, RI 02906	\$101,000.	Person Payroll Noncash X (Complete Part II for noncash contributions)
(a) No.	(b) Name, address, and ZIP + 4	(c) Total contributions	(d) Type of contribution
4	WESLEY S ALPERT 53 WINGATE ROAD PROVIDENCE, RI 02906	\$ 229,440.	Person Payroll Noncash X (Complete Part II for noncash contributions)
(a) No.	(b) Name, address, and ZIP + 4	(c) Total contributions	(d) Type of contribution
		\$	Person Payroll Noncash (Complete Part II for noncash contributions)
(a) No.	(b) Name, address, and ZIP + 4	(c) Total contributions	(d) Type of contribution
		\$	Person Payroll Occupation (Complete Part II for noncash contributions)

Name of organization

Employer identification number

THE GRACE K. ALPERT CHARITABLE FOUNDATION

45-6592383

Part Ii	Noncash Property (see instructions). Use duplicate copies of Part II if additional space is needed
---------	--

(a) No. rom Part I	(b) Description of noncash property given	(c) FMV (or estima (see instruction	Date received
<u>2</u>	TIME WARNER CABLE INC DEBENTURE CPN 5.5%		
		\$ 112,	12/18/14
(a) No.	(1)	(c)	(40)
om art I	(b) Description of noncash property given	FMV (or estima	Liste received
_3	MERRILL LYNCH CAPITAL TRUST I GTD CAP SECS PFD 6.45% 12/15/66		
		\$ 101,	12/18/14
(a) lo. om	(b) Description of noncash property given	(c) FMV (or estima (see instruction	
art I	WELLS FARGO & CO NEW DEP SHS REPSTG	(See mad de do	
_4	1/40 8%		
		\$\$	12/18/14
(a) No. rom art I	(b) Description of noncash property given	(c) FMV (or estima (see instruction	
		\$	
(a) No. rom Part I	(b) Description of noncash property given	(c) FMV (or estima (see instruction	I late received
		\$	
(a) No. rom art I	(b) Description of noncash property given	(c) FMV (or estima (see instruction	I late received
		1	1

Relationship of transferor to transferee

Transferee's name, address, and ZIP + 4

FORM 990	0-PF G	AIN OR	(LOSS)	FROM SA	LE	OF	ASSETS		STA	TEMENT	
DESCRIP'	(A) FION OF PROPERTY						MANNER CQUIRED		TE	DATE	SOLI
PUBLICL	Y TRADED SECURIT	_ IES						-		-	
	(B) GROSS SALES PRICE	(C) COST OTHER I	OR	EXPE	O) NSE ALE	OF	(E) DEPRE	c.	GAIN	(F)	ss
-	1,318,785.	1,29	99,652.			0.		0.		19,	133.
	(A) TION OF PROPERTY	_				_A	MANNER CQUIRED		TE	DATE	SOLI
K-1 THE	BLACKSTONE GROU	P				PU	RCHASED				
	(B) GROSS SALES PRICE	(C COST OTHER	OR	EXPE	O) NSE ALE	OF	(E) DEPRE	c.	GAIN	(F) OR LO	ss
<u>-</u>	42.		0.			0.		0.			42.
DESCRIP	(A) TION OF PROPERTY						MANNER CQUIRED		TE VIRED	DATE	SOLD
K-1 THE	BLACKSTONE GROU	_ TP - SEC'	rion 12	31		PU	RCHASED				
	(B) GROSS SALES PRICE	(C COST OTHER	OR	EXPE	O) NSE ALE	OF	(E) DEPRE	c.	GAIN	(F)	ss
-	9.		0.			0.		0.			9.
CAPITAL	GAINS DIVIDENDS	FROM P	ART IV								0.

FORM 990-PF	DIVIDENDS	AND IN	TERES'	FROM SECU	RITIES S	PATEMENT :
SOURCE	GROSS AMOUNT	CAPI GAI DIVII	NS	(A) REVENUE PER BOOKS	(B) NET INVEST- MENT INCOME	(C) ADJUSTED NET INCOM
ADMIRAL BANK	95.		0.	95	. 95.	95
AMERIPRISE FINANCIAL	13,560.		0.	13,560	. 13,560.	13,560
BLACKSTONE GROUP K-1	35.		0.	35	. 35.	35
TO PART I, LINE 4	13,690.		0.	13,690	13,690.	13,690
FORM 990-PF		ОТН	ER INC	OME	S	TATEMENT :
DESCRIPTION					(B) NET INVEST- MENT INCOME	(C) ADJUSTED NET INCOME
BLACKSTONE K-1				11.	11.	0
TOTAL TO FORM 990-P	F, PART I,	LINE 11	L	11.	11.	0
FORM 990-PF		ACCOU	JNTING	FEES	S'	PATEMENT (
DESCRIPTION		(A) EXPENSI PER BOO		(B) ET INVEST- ENT INCOME	(C) ADJUSTED NET INCOME	(D) CHARITABL PURPOSES
TAX PREP FEE		2,	750.	0.	0.	2,750
TO FORM 990-PF, PG	1, LN 16B	2,	750.	0.	0.	2,750

FORM 990-PF O	THER PROFES	SIONAL FEES		STATEMENT	5
DESCRIPTION	(A) EXPENSES PER BOOKS	(B) NET INVEST- MENT INCOME			
INVESTMENT FEES	13,180.	13,180	•	0.	0.
TO FORM 990-PF, PG 1, LN 16C =	13,180.	13,180	•	0.	0.
FORM 990-PF	TAX	ES		STATEMENT	6
DESCRIPTION	(A) EXPENSES PER BOOKS	(B) NET INVEST- MENT INCOME			
2013 990PF EXTENSION TAX PAID FOREIGN TAXES PAID	500. 10.	0 10		0. 0.	0.
TO FORM 990-PF, PG 1, LN 18 =	510.	10	•	0.	0.
FORM 990-PF	OTHER E	XPENSES		STATEMENT	7
DESCRIPTION	(A) EXPENSES PER BOOKS	(B) NET INVEST- MENT INCOME			
FILING FEES	50.	0	•	0.	50.
TO FORM 990-PF, PG 1, LN 23	50.	0	•	0.	50.
FORM 990-PF	CORPORAT	E STOCK		STATEMENT	8
DESCRIPTION		В	OOK VALUE	FAIR MARKE VALUE	т
AMERIPRISE ONE FINANCIAL - SE	EE ATTACHED		1,108,466.	1,154,6	49.

FORM 990-PF

LIST OF SUBSTANTIAL CONTRIBUTORS PART VII-A, LINE 10

STATEMENT

9

NAME OF CONTRIBUTOR

ADDRESS

WESLEY S ALPERT NOMINEE TRUST

53 WINGATE ROAD PROVIDENCE, RI 02906 December 1, 2014 - December 31, 2014

AMERIPRISE INVESTOR UNIFIED ACCOUNT PROGRAM (cont'd)

GRACE K ALPERT CHAR FOUNDATION

Account #

Strategy Descriptor UMA AGGRESSIVE

		Acc	ount Hole	Account Holdings (continued)	tinued)				
Symbol/Cusip Rating	Description	Beginning Value	Quantity	Ending Price	Ending Value	Cost Basis 1	Esunated Unrealized Gain/Loss	Annual	Yedd
Equities ETN	EATON CORP PLC	\$3,188.01	82.00000	\$67.9600	\$5,572.72	\$5,858.91	-\$286.19	\$161	2.88%
IVZ	INVESCO LTD	\$6,134.72	253.00000	\$39.5200	\$9,998.56	\$9,364.22	\$634.34	\$253	2.53%
ACE	ACE LTD	\$14,978.54	246.00000	\$114.8800	\$28,260.48	\$26,254.24	\$2,006.24	\$640	2.26%
GRMN	GARMIN LTD	\$9,511.80	288.00000	\$52.8300	\$15,215.04	\$15,571.05	-\$356.01	\$553	3.63%
ADT	ADT CORP	\$8,210.90	404.00000	\$36.2300	\$14,636.92	\$14,571.32	\$65.60	\$323	221%
AFL	AFLAC INC	\$5,375.70	146.00000	\$61.0900	\$8,919.14	\$9,191.65	-\$272.51	\$228	2.55%
 	AT&T INC	\$6,828.34	335.00000	\$33.5900	\$11,252.65	\$11,198.76	\$53.89	\$630	5.60%
ABT	ABBOTT LABORATORIES	\$4,584.53	194.00000	\$45.0200	\$8,733.88	\$8,557.39	\$176.49	\$186	2.13%
ABBV	ABBVIE INC	\$6,989.20	188.00000	\$65.4400	\$12,302.72	\$11,162.64	\$1,140.08	\$368	3.00%
MO	ALTRIA GROUP INC	\$5,076.26	191.00000	\$49.2700	\$9,410.57	\$8,221.07	\$1,189.50	\$397	4.22%
AEP	AMERICAN ELECTRIC POWER COMPANY	\$4,661.55	153.00000	\$60.7200	\$9,290.16	\$8,399.52	\$890.64	\$324	3.49%
AFG	INC AMERICAN FINANCIAL GRP INC OHIO	\$5,133.15	128.00000	\$60.7200	\$7,772.16	\$7,465.41	\$306.75	\$128	1.65%
AMGN	AMGEN INC	\$9,587.98	107.00000	\$159.2900	\$17,044.03	\$15,491.58	\$1,552.45	\$338	1.98%
AAPL	APPLE INC	\$9,752.26	144.00000	\$110.3800	\$15,894.72	\$15,736.72	\$158.00	\$271	1.70%
ADM	ARCHER DANIELS MIDLAND COMPANY	\$6,268.92	207.00000	\$52.0000	\$10,764.00	\$9,737.29	\$1,026.71	\$199	1.85%
BBT	BB&T CORP	\$5,525.73	275.00000	\$38.8900	\$10,694.75	\$10,696.50	-\$1.75	\$264	2.47%
BCR	BARD C R INC	\$9,706.30	102.00000	\$166.6200	\$16,995.24	\$15,972.71	\$1,022.53	\$30	0.53%

December 1, 2014 - December 31, 2014

AMERIPRISE INVESTOR UNIFIED ACCOUNT PROGRAM (cont'd)

GRACE K ALPERT CHAR FOUNDATION

Strategy Descriptor UMA AGGRESSIVE

tor .

							Estimated —		
Symbol/Cusip Rating	Description	Beginning Value	Quantity	Ending Price	Ending Value	Cost Basis ¹	Uhrealized Gain/Loss	Annual Income	Yield
Equities BLK	BLACKROCK INC	\$6,463.44	30.0000	\$357.5600	\$10,726.80	\$9,724.14	\$1,002.66	\$232	2.16%
BRCM	BROADCOM CORP CLASS A	\$9,963.03	400.00000	\$43.3300	\$17,332.00	\$16,007.17	\$1,324.83	\$192	1.11%
CME	CME GROUP INC CLASS A	\$5,586.24	125.00000	\$88.6500	\$11,081.25	\$10,164.93	\$916.32	\$235	2.12%
cvs	CVS HEALTH CORP	\$9,958.24	190.00000	\$96.3100	\$18,298.90	\$16,438.15	\$1,860.75	\$266	1.45%
CAM	CAMERON INTL CORP	\$6,204.88	208.00000	\$49.9500	\$10,389.60	\$13,065.44	-\$2,675.84	\$0	0.00%
COF	CAPITAL ONE FINANCIAL CORP	\$8,902.40	188.00000	\$82.5500	\$15,519.40	\$15,219.92	\$299.48	\$226	1.45%
CVX	CHEVRON CORP	\$6,967.68	110.00000	\$112.1800	\$12,339.80	\$12,593.16	-\$253.36	\$471	3.82%
0383	CISCO SYSTEMS INC	\$6,578.32	416.00000	\$27.8150	\$11,571.04	\$10,148.85	\$1,422.19	\$316	2.73%
csc	COMPUTER SCIENCES CORP	\$8,809.82	243.00000	\$63.0500	\$15,321.15	\$15,470.04	-\$148.89	\$224	1.46%
COP	CONOCOPHILLPS	\$7,598.05	198.00000	\$69.0600	\$13,673.88	\$13,642.83	\$31.05	\$578	4.23%
DOW	DOW CHEMICAL COMPANY	\$16,061.10	613.00000	\$45.6100	\$27,958.93	\$29,541.20	-\$1,582.27	\$1,030	3.68%
DPS	DR PEPPER SNAPPLE GROUP INC	\$11,248.00	262.00000	\$71.6800	\$18,780.16	\$16,503.21	\$2,276.95	\$430	2.29%
EIX	EDISON INTL	\$9,851.80	267.00000	\$65.4800	\$17,483.16	\$16,123.01	\$1,360.15	\$446	2.55%
EMR	EMERSON ELECTRIC COMPANY	\$3,378.75	84.00000	\$61.7300	\$5,185.32	\$5,322.49	-\$137.17	\$158	3.05%
XLS	EXELIS INC	\$2,511.60	219.00000	\$17.5300	\$3,839.07	\$4,051.08	-\$212.01	\$30	2.36%
XOM	EXXON MOBIL CORP	\$8,420.22	159.00000	\$92.4500	\$14,699.55	\$14,980.67	-\$281.12	\$439	2.99%
FIS	FIDELITY NATIONAL INFORMATION SERVICES INC	\$4,344.49	135.00000	\$62.2000	\$8,397.00	\$7,924.99	\$472.01	\$130	1.54%

Λ#5

December 1, 2014 - December 31, 2014

AMERIPRISE INVESTOR UNIFIED ACCOUNT PROGRAM (cont'd)

GRACE K ALPERT CHAR FOUNDATION

Strategy Descriptor UMA AGGRESSIVE

							Estimated		[
Symbol/Cusip Rating	Description	Beginning Value	Quantity	Ending Price	Ending Value	Cost Basis ¹	Unreafized Gain/Loss	Annual	Yield
Equities FITB	FFTH THIRD BANCORP	\$4,728.20	343.00000	\$20.3750	\$6,988.62	\$6,985.49	\$3.13	\$178	2.55%
ΑG	ARTHUR J GALLAGHER & COMPANY	\$4,459.35	176.00000	\$47.0800	\$8,286.08	\$8,321.13	-\$35.05	\$253	3.06%
GD	GENERAL DYNAMICS CORP COMMON	\$9,448.40	195.00000	\$137.6200	\$26,835.90	\$27,227.59	-\$391.69	\$484	1.80%
GE	GENERAL ELECTRIC COMPANY	\$8,688.72	571.00000	\$25.2700	\$14,429.17	\$14,587.71	-\$158.54	\$525	3.64%
GM	GENERAL MOTORS COMPANY	\$4,546.48	253.00000	\$34.9100	\$8,832.23	\$8,662.99	\$169.24	\$304	3.44%
GID	GILEAD SCIENCES INC	\$8,226.24	148.00000	\$94.2600	\$13,950.48	\$13,048.97	\$901.51	\$0	0.00%
es es	GOLDMAN SACHS GROUP INC	\$8,855.27	81.00000	\$193.8300	\$15,700.23	\$15,369.84	\$330.39	\$194	1.24%
HCP	HCP INC	\$3,942.40	133.00000	\$44.0300	\$5,855.99	\$5,733.92	\$122.07	\$290	4.95%
HB.	HANESBRANDS INC	\$9,141.88	141.00000	\$111.6200	\$15,738.42	\$15,455.39	\$283.03	\$169	1.08%
HRS	HARRIS CORP DEL	\$2,795.13	68.00000	\$71.8200	\$4,883.76	\$5,059.25	-\$175.49	\$128	2.62%
НРО	HEWLETT-PACKARD COMPANY	\$5,702.76	273.00000	\$40.1300	\$10,955.49	\$9,717.85	\$1,237.64	\$175	1.59%
읖		\$16,401.00	308.00000	\$104.9700	\$32,330.76	\$28,919.94	\$3,410.82	\$579	1.79%
NOH	HONEWELL INTL INC	\$9,213.51	160.00000	\$99.9200	\$15,987.20	\$15,508.38	\$478.82	\$331	2.07%
INTC	INTEL CORP	\$9,685.00	451.00000	\$36.2900	\$16,366.79	\$15,805.44	\$561.35	\$406	2.48%
<u>a</u> .	INTERNATIONAL PAPER COMPANY	\$5,758.74	205.00000	\$53.5800	\$10,983.90	\$10,116.34	\$867.56	\$328	2.99%
JPM	JPMORGAN CHASE & COMPANY	\$10,708.48	336.00000	\$62.5800	\$21,026.88	\$20,199.42	\$827.46	\$538	2.56%
N.	JOHNSON & JOHNSON	\$5,953.75	100.00000	\$104.5700	\$10,457.00	\$9,911.16	\$545.84	\$280	2.68%

Account #

December 1, 2014 - December 31, 2014

AMERIPRISE INVESTOR UNIFIED ACCOUNT PROGRAM (cont'd)

GRACE K ALPERT CHAR FOUNDATION

Strategy Descriptor UMA AGGRESSIVE

						•			
Symbol/Cusip Rating	Description	Beginning Value	Quantity	Ending Price	Ending Value	Cost Basis¹	Unrealized Gain/Loss	Annual Income	Yield
Equities JCI	JOHNSON CONTROLS INC	\$0.00	224.00000	\$48.3400	\$10,828.16	\$10,736.41	\$91.75	\$233	2.15%
KAR	KAR AUCTION SVCS INC	\$3,672.90	149.00000	\$34.6500	\$5,162.85	\$4,586.85	\$576.00	\$161	3.12%
KWB	KIMBERLY CLARK CORP	\$6,412.45	103.00000	\$115.5400	\$11,900.62	\$11,263.01	\$637.61	\$346	2.91%
Æ	KROGER COMPANY	\$9,873.60	282.00000	\$64.2100	\$18,107.22	\$14,752.91	\$3,354.31	\$209	1.15%
PH	LIBERTY PROPERTY TRUST	\$2,476.60	123.00000	\$37.6300	\$4,628.49	\$4,618.63	\$9.86	\$234	5.05%
ΙŢ	LILLY ELI & COMPANY	\$5,245.24	139.00000	\$68.9900	\$9,589.61	\$8,994.06	\$595.55	\$278	2.90%
INC	LINCOLN NATIONAL CORP IN	\$9,060.80	280.00000	\$57.6700	\$16,147.60	\$15,177.42	\$970.18	\$224	1.39%
LMT	LOCKHEED MARTIN CORP	\$7,662.40	70.00000	\$192.5700	\$13,479.90	\$12,364.84	\$1,115.06	\$420	3.12%
MMC	MARSH & MCLENNAN COS INC	\$5,262.87	177.00000	\$57.2400	\$10,131.48	\$9,513.45	\$618.03	\$198	1.96%
MRK	MERCK & COMPANY INC NEW	\$11,294.80	339.00000	\$56.7900	\$19,251.81	\$19,484.74	-\$232.93	\$610	3.17%
MSFT	MICROSOFT CORP	\$7,410.55	266.00000	\$46.4500	\$12,355.70	\$11,441.44	\$914.26	\$330	2.67%
MU	MICRON TECHNOLOGY INC	\$10,533.35	507.00000	\$35.0100	\$17,750.07	\$14,492.12	\$3,257.95	\$0	0.00%
MNST	MONSTER BEVERAGE CORP	\$9,196.30	144.00000	\$108.3500	\$15,602.40	\$15,969.89	-\$367.49	0\$	0.00%
NKE	NIKE INC CL B	\$9,730.42	170.00000	\$96.1500	\$16,345.50	\$15,592.82	\$752.68	\$190	1.16%
λXO	OCCIDENTAL PETROLEUM CORP	\$5,025.51	118.00000	\$80.6100	\$9,511.98	\$10,502.48	-\$990.50	\$340	3.57%
PCG	PG&E CORP	\$9,241.50	309.00000	\$53.2400	\$16,451.16	\$15,873.01	\$578.15	\$562	3.42%
PNC	PNC FINANCIAL SERVICES GROUP INC	\$3,323.86	29.00000	\$91.2300	\$5,382.57	\$5,156.92	\$225.65	\$113	2.10%

Λ#3

December 1, 2014 - December 31, 2014

AMERIPRISE INVESTOR UNIFIED ACCOUNT PROGRAM (cont'd)

GRACE K ALPERT CHAR FOUNDATION

Strategy Descriptor UMA AGGRESSIVE

				,			Fstimated —		
Symbol/Cusip Rating	Description	Beginning Value	Quantity	Ending Price	Ending Value	Cost Basis ¹	Unrealized Gain/Loss	Annual	Yield
Equities PH	PARKER-HANNIFIN CORP	\$8,774.04	119.00000	\$128.9500	\$15,345.05	\$15,437.48	-\$92.43	\$300	1.95%
PFE	PFIZER INC	\$9,781.10	560.00000	\$31,1500	\$17,444.00	\$17,812.68	-\$368.68	\$627	3.60%
PM	PHILIP MORRIS INTL INC	\$5,128.87	111.00000	\$81.4500	\$9,040.95	\$9,095.27	-\$54.32	\$444	4.91%
PG	PROCTER & GAMBLE COMPANY	\$6,782.25	130.00000	\$91.0900	\$11,841.70	\$11,061.11	\$780.59	\$335	2.83%
PLD	PROLOGIS INC	\$6,342.00	261.00000	\$43.0300	\$11,230.83	\$10,849.41	\$381.42	\$345	3.07%
PRU	PRUDENTIAL FINANCIAL INC	\$5,608.68	138.00000	\$90.4600	\$12,483.48	\$12,138.54	\$344.94	\$320	2.56%
RAI	REYNOLDS AMERICAN INC	\$9,161.49	244.00000	\$64.2700	\$15,681.88	\$15,438.73	\$243.15	\$654	4.17%
ATTI	SOUTHWEST AIRLINES COMPANY	\$10,287.72	426.00000	\$42,3200	\$18,028.32	\$15,257.00	\$2,771.32	\$102	0.57%
SIT	STATE STREET CORP	\$4,527.07	110.00000	\$78.5000	\$8,635.00	\$7,902.51	\$732.49	\$132	1.53%
SYMC	SYMANTEC CORP	\$4,017.86	292.00000	\$25.6550	\$7,491.26	\$7,042.44	\$448.82	\$175	2.34%
150	TESORO CORP	\$9,654.12	218.00000	\$74.3500	\$16,208.30	\$15,809.58	\$398.72	\$262	1.61%
圣	THOMSON REUTERS CORP	\$4,752.00	231.00000	\$40.3400	\$9,318.54	\$8,834.14	\$484.40	\$305	3.27%
TRV	TRAVELERS COMPANIES INC	\$9,087.15	152.00000	\$105.8500	\$16,089.20	\$15,558.24	\$530.96	\$334	2.08%
NSB	U S BANCORP DE NEW	\$5,392.40	230.00000	\$44.9500	\$10,338.50	\$10,056.46	\$282.04	\$225	2.18%
UNP	UNION PACIFIC CORP	\$5,838.50	82.00000	\$119.1300	\$9,768.66	\$8,519.72	\$1,248.94	\$164	1.68%
XIS.	UNITED TECHNOLOGIES CORP	\$4,733.44	82.00000	\$115.0000	\$9,430.00	\$9,436.18	-\$6.18	\$194	2.05%
VLO	VALERO ENERGY CORP	\$8,701.19	309.00000	\$49.5000	\$15,295.50	\$15,489.35	-\$193.85	\$340	2.22%

December 1, 2014 - December 31, 2014

AMERIPRISE INVESTOR UNIFIED ACCOUNT PROGRAM (cont'd)

GRACE K ALPERT CHAR FOUNDATION

Strategy Descriptor UMA AGGRESSIVE

UMA AGG Account Holdings (continued)

							Estimated -		
Symbol/Cusip Rating	Description	Beginning Value	Quantity	Ending Price	Ending Value	Cost Basis 1	Unrealized Gain/Loss	Annual Income	Yield
Equities VZ	VERIZON COMMUNICATIONS INC	\$6,070.80	226.00000	\$46.7800	\$10,572.28	\$10,618.31	-\$46.03	\$497	4.70%
WMT	WAL-MART STORES INC	\$7,090.74	144.00000	\$85.8800	\$12,366.72	\$11,462.27	\$904.45	\$276	2.24%
WFC	WELLS FARGO & CO NEW	\$10,841.52	373.00000	\$54.8200	\$20,447.86	\$19,122.88	\$1,324.98	\$522	2.55%
Total Equities Total Accou	Total Equities Total Account Holdings				\$1,154,648.80 \$1,108,466.37 \$1,160,580.59 \$1,108,466.37	1,108,466.37 1,108,466.37	\$46,182.43 \$46,182.43	\$26,978 \$26,984	· · · · · · · · · · · · · · · · · · ·
									_

¹ Cost basis may be incomplete or inaccurate and should not be relied upon in preparing your tax return. See the Disclosures section of this statement for more information. 5 Any balances held in AIMMA or a money market mutual fund can be liquidated at your request and the proceeds held as cash in the account or remitted to you per your instructions.

Account Activity Detail

Date	Transaction	Description	Symbol/ Cusip	Amount	Quantity	Price
Additions						_
12/18/2014 JOURNAL	JOURNAL	Other Additions MERRILL LYNCH CAPITAL TRUST I GTD CAP SECS PFD	MER'K	\$101,000.00	4,000.00000	
		6.45% 12/15/66 FROM: 39430590-1 WESLEY S ALPERT				
12/18/2014 JOURNAL	JOURNAL	AS THEE WELLS FARGO & CO NEW DEP SHS REPSTG 1/40 8% NON WFC'J	√ WFC'J	\$229,440.00	8,000.00000	
		CUML PERP A SER J FRUM: 39430590-1 WESLEY S ALPERT AS TTEE	==			

⁷ Ending value amounts for Account Holdings represent information posted as of trade date and thus may include transactions that have not settled as of the date of this

^{**} This estimated cost basis and gain/loss information is based on values that have been provided by you.